
DEP00−7N

DEP00−1A

For any colour, YW,10=100, D65
[max (m) chromatic value?], 
in the chromaticity diagram (x10, y10)
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DEP00−2A

For any colour, YW,10=100, D65
[max (m) chromatic value?], 
chromaticity diagram (a,10, b,10)
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DEP00−3A

For any colour, YW,10=100, D65
[max (m) chromatic value?], 
chromaticity diagram (a1,10, b1,1
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DEP00−4A

For any colour, YW,10=100, D65
[max (m) chromatic value?], 
chromaticity diagram (a2,10, b2,1
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DEP00−5A

For any colour, YW,10=100, D65
[max (m) chromatic value?], 
chromaticity diagram (a3,10, b3,1
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DEP00−6A

For any colour, YW,10=100, D65
[max (m) chromatic value?], 
chromaticity diagram (a4,10, b4,1
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DEP00−7A

For any colour, YW,10=100, D65
[max (m) chromatic value?], 
chromaticity diagram (a5,10, b5,1
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DEP00−8A

For any colour, YW,10=100, D65
[max (m) chromatic value?], 
chromaticity diagram (a6,10, b6,1
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